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Geometry Pre-1B Mid-term Review

Constructions

m the dingram of AABC shown below, vse 5 compass and straightedze tr constract the median
w AB. [Leave all construction marks. ]

2) :
Using a straightedge and compass, construct a squ%&n\swﬁ;&ed in circle O below.
[Leave all construction marks. ] : :




Corstruct £D congraent to £A.

|
|
|

Segment CD is the perpendicn’ v E:wis;ietm of AB at E. Which pair of

s2gments does not have to be ¢ ngrupnt? 5
{1) AD,BD 3) AE,BE
(2) AC,BC DE,CE

o

c D

5)The diagram below shows the construct

Which statement is not true?

1) ysEBF= %m@asc

2) w/DBF= %méABC

&



6)Using a compass and straightedge, construct the bisector of £CBA. [Leave all construction marks.]

8

"

7)Using a compass and straightedge, construct an equilateral ‘iangle with AB as a side. Using this triangle, construct a
30° angle with its vertex at A. [Leave all construction marks.]

¢

8)The diagram below shows the construction of an equilateral triangle.

c

¥

Which statement justifies this construction?
1) LA+£ZB+ZC=180
2y miA=msLB=mLC

@AB=AC=BC

4) AB+BC>AC



9)Line segment AB is shown in the diagram

Which two sets of construction marks, labe
of line segment AB?

1} tandll
@ fand i

3) llard Ml

4) lfand v

slew.

30

Xi

>< i

I, and 1V, are part of the construction of the perpendicular bisector

Theoreras and Vocabulary and Propertie: | m]:/ekt angle, sum of int angles of triangle, isosceles triangle)

10)When writing a geometric proof, whicl
congruent?

1) supplementary angles

2} linear pair of angles

11)The diagram below shows AABD, wit
LEBD =z LZCBD. \{f mLABE = 52, what is:

Gy =
2) 38
3) 52

4) 6

—y

AFC| BE 1 AD, and

<17 |

|

$) adjacent angles
o
|

|
AL

vertical angles

mg;};;le'}relationship could be used alone to justify that two angles are

PIVANA

A B C

et



z2b 54 90

12)Triangle PQR has angles in the ratio of 2:3:5. Which type of triangle is A PCOR?

1) ac‘utcle \DK — \%O

2) isosceles

3) obtuse X = \ g

@ right

13)in AABC, the measure of angle A is fifteen less than twice the measure of angle B. The measure of angle C equals
the sum of the measures of angle A and angle B. Determine the measure of angle B.

Xt K~ + (x £ 2x~\D) A0
bxm%: \RO

(0% Z2\O

):& S5 = A%

14)In the diagram below of AACD, B is a point on AC such that AADE is an equilateral triangle, and ADBC is an
isosceles triangle with DB = BC. Find m<£C. Explain your reasoning.




{

15)In the diagram of ABCD shown below, o it drawn from vertex B to pointA on 55', such that BC = E‘Z

In ADAB, mZD=x, msDAB = 5x - 30, ani '/ DBA =3x~ 60, In AABC, AB =6y —8 and BC = 4y ~ 2. [Only algebraic
solutions can receive full credit.] Findm<i  FindmZBAC, Find the length of §E Find the length of 56

Oy-90=(20

A BACD

L 4

1
£
z
i
g
i
{
\
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et 7 it i

16) Hersch says if a triangle is an obtuse t inyle; then it cannot also be an isosceles triangle. Using a diagram, show that

Hersch is incorrect, and indicate the mea: reu of all the angles to justify your answer.




17)In the diagram below of AHQP, side HP is extended through P to T, ms/OPT = 6x + 20, mJ HOP = x + 40, and

(OXHI0 = Y4UOt -5

DY+ B5xx3D
20 7T 70

T P Ho i 1
-
{Not drawn to scale) — \ ) )

é(\55 20 = \\Dl
| T M AQPT = e} “

(x + 40)°

18)A stop sign in the shape of a regular octagon is resting on a brick wall, as shown in the accompanying diagram.

What is the measure of angle x?

g ]
2) 60° 6\(}) _ 6"
3) 120° t:g — L\

4) 135°




|

19)The measure of an interior angle of a reg 1ar polygon is 120°. How many sides does the polygon have?

;.QKJV . geii(o & 25 |
eSS o G

‘\,

20)The sum of the interior angles ofaregu pn)l\)!gon is 540°. Determine and state the number of degrees in one

Interior angle of the polygon.

D(n-2)=2 D

\‘ |7 1)
V222

02D QS

Parallel Lines

21)Based on the diagram below, which sti i-men}t is true?

1) al|bd

2) afc

3) biec

N
)l |




» q
22)Lines p and g are intersected by line r, as shown below. ] S\ﬂ 1
fmZl = 7x - 36 and m£2 = 5x + 12, for which value of x would p || ¢? f&_M
3 v \
Q-
2) 24

3) 83 ‘7)( —?jb’tBX'\’\/L: \@

- \Ix 2# +Z4

\,’Z.M'ZL/U(
23) - ><’:“ i/)

In the diagram below of guadrilateral ABCD with gi\ggonaiﬂgﬂ, mLd =93 mLADE= 43,
mLC=3x4+5, mLBDC=x+ 19, and mgDBC = 2y + 6. Detenmine if AB is parallel to DC.
Explain vour reasoning.

'%D Y
3
e
“TuL 435 e,
Uy
o~ -7 )




fosdrpesendy flecdy

Inthe accompanying diagram, CE  EJ, AB is a transversal, m DGH = 2x, and
24) wLFHE = 5x-51. Find the measw  Ir d?grees, of LBHE.

\!

—
>
.
=
.
?‘g"“

25) [
In the figure given, lines mand p ar pevallel and BD
bisects £ABC. What is the measure f £x?

a; \ D C (b
e %7110@
56 /} °
N (- NIO -
555 (3) 65
(2) €0° 4) 70




S £

26) —_ '

[, XCAN &% (. %,\/Of\
Given: £CAB = ADCA and £DCA = LECB ot »
Prove: . AB || DCE. 0 2 xeCH

b. ZCAB is the supplement of ZCBG, 7. I? l th\im&‘
O

D - E a)Z %H’DCE, "%) z‘{/b&& ‘mg
Q¥ o \MUQQS ose |/

A AECR 18 4 SUfP. |2 //ﬁ ﬁ%}tf,a ho-
o 5CL6 e int. 45 Hhat

SUFP. 3
4 M%Edb%%m%ﬁ@ 4 me

5. 240ph e xECH P TONGING o0,
b, SJoShTuhioh
Given: OP || RS,QP = RS . mg@k@%ﬂ\\ %{%Q@@r oSt
Prove: OR || PS 7 ‘l? l 25(; aB
- 1 ACAD iy, The U A4S )5 Yy
7 X’\' X PJG ¢ Q %\_W
S | =

O3l ~ GNRM B
LQHX&S’GRKS \7;\\ S by &
_— I OIF . WY, %S
b, PR = PR 2, refipxne POT

d Nz ASREY |4 SAS =

27)

5 %27 %3 ’5 cPCTC
(0. OFW TS AL %5,
| \ \C\fﬁ 2}5
ok 0©



Rotation:;
28)What is the image of point (8,~4) undel he rotation Rgy. about the origin?

er L e Gy

(4.8)

@ (1, )

4) (-4,-8)

29)
Given AABC with vertives 4 (2,3 B[0,6) and C(2, 6).

a, Graph AABC on the axes| ovided below.

b. Graph and state the coord atesof AA'B'C’, the image of AABC after a rotation of
90° aboutthe point (-1, 2

(7((551@ (¥, y-2)
Q?@".} (’(3’23 } er\)
(Lﬁz XJF\)

T2
5y, D
A (30 242 =(-2, )
B (o, 04D (-5,3)
C‘t(x(oﬂ)zﬂ")}:




30. Using a compass, rotate the given triangle about point P. Use reference angle below.

®p ’




Reflections

31)

32)Wha: are the coordinates of point P, tt  image of point (3,-4) after a reflection in the line y = x?

1) (34
2) (-3.4)
3) (4.--3)
(4,3
Side Note: What would the image be afte i refl
Transla:ions

33)A translation moves 2(3,5) to P'(6,1) Vhat
transiation?

Qs Ty
2) (-5,-3)
3) (-65,-1)

4) (—3,-9)

ection in the x-axis? (%1 % y-axis? ("51 Lg
) 7 T~ [] A

are the coordinates of the image of point {(-3,—5) under the same

AJr%;%

o, { . J
§
{ 3

O




34) If the transformation Ty, ,, maps point A(1,-3) onto point 4'(~4, 8}, what is the value of x?

., [2)

35) ’
Point P is on the directed line segment from point X(—6,—2) to point
¥(6.7) and divides the segment in the ratio Lij_ What are the X — 7
coordinates of point P? = (0"“0-#0.‘
() (4,53) (3) (~43,0) A | T

@ (-1,-9 @)~4,-4 A _
2 N A (i

) . =5
Composition of Transformations ‘\ﬂ Zt l 5 \{ | (ﬂ (q\> ,, z: \.3 :

=5
36)What is the image that results from this com sition of transformations?
&

Pods © Rooo-&30)

37)The coordinates of AJRB are J(1,-2), R(~3,6), and B(4,5). What are the coordinates of the vertices of its image
after the transformation Ty _; 7'y ?

Y

1) (G 1D.(-L-7.(6,-6) j U {/2) . C,)‘,ZB_,% ( ) }( /5\

2) G-D.CLG6H |
Qe R (e300 55)
O O/\(Cj)ﬁ (’U\\{é}ﬁ (/2) LD A



Extra Transformations—

38)Which transformation is not always a ri; : motion?

1) rotation
@dilaﬁon

3) reflection

4) translation

39)A transformation of a polygon that alw: : preserves both length and orientation is

1) dila:ion /)<

e,

L;.ZD trar slation

3) line reflection D(

4) None of the above

40)

Using 1 compass and straightedge, « mnstriet and label AA'B'CY, the image of AABC after a
dilation with a scale factor of 2 and « utaw:re;d at B. [Leave all construction marks.]

<




41)The vertices of AABC are A(3,2), B(6,1), and C(4,6). identify and graph a transformation of AABC such that its

image, AA'B'C’, results in AB A8

7;7‘7/

\\

A
L7

——

3>

42)
Given: AAEC, ADEF, md FE L CE

D

6\5@“

Wm!: is 3 cm*mt sequence of similarity transformations that shows
AAEQ~ADEF?

{1} a rotation of 180 degrees about point E followed by a horizontal
translation

{2} a counterclockwise rotation of 90 degrees about point E
followed by a horizental translation

{3} a rotation of 180 degrees about point E followed by a dilation

with a scale factor of 2 centered at point E
a counterclockwise rotation of 90 degrees about point E
ollowed by a dilation with a scale factor of 2 centered at point E

Fail]



43)

hal will map AABC outo ADEF as shown below.

Describe a sequence of transformation

T 81,301
S T @(,ng)ag(q(%)
Bl CButee
i e s (1) (" ye oS
: Lt = Too
1 \ i

Triangle Congruence

44)In th2 diagram below of AAGE and A

To prova that AAGE and AOLD are con
needed?

1) gF=1ID

// 2 ——;m—
(\DAC =0L

3) LLGE=ZOLD

4) LAEG= QDL

I

— — G
LI AGAE = ZLOD, and AE = OD,
i
Jent by SAS, what other information is M
A : E O ; D




45)In the diagram below, AAEC = ABED,

Which statement is not always true?

1) ac=30 V

B

V4 g — '
2) CE=DE \/ \C/‘F’;’C 1@ O, |\ EQVeT e
3) LEAC= LEBD | T Rd 2, :\:’? 2 5SS &5
4ACEEZDBE‘V< | 2 Xe=3C a A o = —FLQ_,
| of - S ace =
46) ?) AFEA z A‘:C.QD 6SA<S :SA.S

e 4, AF S BF Y. cﬁqc
D c epoEp |5 feflayne o
EA=CB a

= TS ET {0 @S-
P‘i‘ove; 2 AFD= 2aBFD G Ebﬁg +AD ~ cD le. P(l(’\f ‘)n ¢

L C Ao
! “E MD-* €. < ptachm gﬁ}
1Ay SRS

4 DAl Sss=SSS




S | £
| X|¥42, . &ven
/ng‘DF—)&Bté‘L}/ 2'025149:&5@’(:&
L X4 val ar (;5;&; Qén’*\. j |
B [inear gﬂa»e rs W o o
5, 1vi5 and B I 255 Pm

Prove: aABC IS isosceles ‘S\JF}P MM dﬁ WJ onre SUW’

47)

Given: 21 = ¢22

. S A
a2t roum B Z7S' Ugg)z%w
rral)t mG=I 1 T3 e\
OMETT- C 0 sugade
0. T 25z ¥lo ' P

48) 7. MED z \B¢D v7,/°&‘SA§'~ASA

Given: DB L K?ﬁ = ﬁ,ﬂ 24
Prove: EE?I? f




Coordinate Geometry

 49) The endpoints of AB are A(3,~-4) and B(7,2). Determine and state the length of AB in simplest radical form.

d(/ﬁg} (73 + (214

= {sz+ (,Z f@
= (o3 = (51 = 2@\

50) What is the slope of the altitude to side AB; A(-2, 1), B(4, -5), C(2, 6)?

N\U@ ->-1 :_(19___,,\

L

p ; 5"
o A ‘

51) If a line segment has endpoints A{3x + 5,3y) and B(x - 1,—), what are the coordinates of the midpoint of AB?

{%5«%— M) (ﬂiﬁ’ Z:B
" | KZ)HZ 7’))

Ifthe points (3,5, @42)and 5,k)lieona i"straight line, the value of k is
A) I B) 2 @-1 D) ©

’mj" 6"2— ._3.;_.,
~\ -2 - \L«%
$7 +Z.\__

N2 -2 y2 ":”) - v
\




53)

Which equation represents  line that is parallel to

the hne whose equation is !

1) y=—%~x+5

2
2) y=—§x+4 —

/"M’t 3 -
/o 3) y=5%x-5
- i

2
4} y=§x—4

54)

What is the slope of a lin
the line whose equation 1

3
1) -3
3
,‘)’- —
2) 3
" 5
3) 3

/

Ok

55) Wtich equation represents the perpe dizuf

[ T S

answer in slope-intercept form.

N

-~ %
\m\ g /’:‘;‘vt‘ \W 5:" # 1
AN (A\u = o L

:.:f 4;’0 *:é 1r'r " : 2
LT

]

(%

—2p=7
= 'k —2 ]
’E& ) ""Z

that 18 perpendicular to
J+5y =47

;‘5*‘""’”“’“ — MA_‘Z
Z

e ) s P
27N I’"‘é
% . b

v,

\y=2x4



56)
- Inthe diagram below, AABC has vertices A(4.5), B(2,1), and C(T ,3),

¥
A

Bl ot

+ aincl

b

Write the equation of the median to side AB. M ( fh«f"x

57) A line that passes through the points whose coordinates are (1, 1) and (5, 7) is dilated by a scale factor of 4.

A) Write the equation of the image ii the center of dilation is the orit .
N e 2 >0 on U<
- . .

U H T2k o Qaoe K
Kl,‘)‘“’.”} (Un’%\) Y- ':----34"'f'"(.,74"’&\,3
(3 - (ZO;ZYD U-U =2 x-b

%’\’* 2(6) on Ume
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